Many people cannot afford to have expensive houses because they are on low ....................
1. إجابة courage
responsibility
nature
income
0.5 درجات
السؤال 2
1. He plants ......................... on his farm every year.

إجابة woods
crops
raises
sheep 
0.5 درجات
السؤال 3
1. busy/ the/ people/ in/ are/city
Rearrange to form a correct sentence 


إجابة Busy people in the city are.
In the city are people busy. 
People in the city are busy. 
Busy are people in the city. 
0.5 درجات
السؤال 4
1. Yesterday, she .................... to the supermarket.

إجابةhave gone
go
went
goed 
0.5 درجات
السؤال 5
1. These days, even kids ........................ the computer to do their assignments.

إجابة use
uses
is used to
are used to 
0.5 درجات
السؤال 6
1. She .............................. a teacher when she was younger.

إجابة uses
is used to
used
used to be 
0.5 درجات
السؤال 7
1. It is your ...................... to make sure that your homework is done on time.

إجابةresponsibility
courage
birth
woods 
0.5 درجات
السؤال 8
1. I enjoy watching the sunrise because I love ............................ .

إجابة crops
plants
birth
nature 
0.5 درجات
السؤال 9
1. I am very ............................. my son because he got high marks.

إجابةproud of
dependent on
mad
used to 
0.5 درجات
السؤال 10
1. He is completely ..........................his parents for money.

إجابة proud of
quit
dependent on
raise 
0.5 درجات
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